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ITHI

LEXEL PUZZLE 22W

LR L2EIVIXXIL 22W FiER
WERE [747—O0—"7A= S M L Mm MH
5 = # EET [O—5—Fz—VAR 2 (mm) 4,700 5,050 5,300 5,050 5,050
T HTERE [O—>—Fz—VAR 21 (mm) 1,700 1,850 1,950 1,850 1,850
X & T—hEE |74 7—0—"A"K N A’ 2F 2,100 2,100 2,100 1,550 2,100
® B o E R 2.2kW7'[/—=HT¥V—|*“‘F_—7 AJREER £ (m) 1F 2,100 2,100 2,100 1,900 2,100
mEh # ERET [0.2kKWTL—Ff =\"—\‘\7— RE=% # T = B1 1,550 1,550 1,550 1,550 2,100
= WTFREE [37KWIL—FHFr—RE-% B2 1,800 1,800 1,800 1,550 2,100
T—hEE [0.0kWIL—FHT7—RE-% EE () 1,700 2,000 2,300 2,000 2,000
T R AC200/220V =#8 50/60Hz | 7.4kW (16.0kVA) EvbhESL ]| 4,900 5,250 5,500 5,250 5,250
= "M IAC100V ##8 50/60Hz_ [1.0KW (1.0KVA) HEAR—ZFDE Lt (mm) 5,400 5,750 6,000 5,750 5,750
BIERE Sy FINRILGEEA R # B 0 E:P (m)| 2,350 2,450 2,550 2,450 2,450
EETS 28—128 | 3&E-20&8 | E—28H 2 B E v b @W (mm) [PxE$k+400| Px:E#+400 | PxE#8+-400 | Px:&@%+400 | Px:E#+400
— 5E—36E | 6E-445 | % & | B u’iIJl:"/ NSRS HpF(mm) | 3,920 3,920 3,920 3,670 4,770
MRITRICED AEBREEYEBBEANTENET, B JC 1&7' t_%g HpR (mm) 3,820 3,820 3,820 3,570 4,670
WnlhooRpt il S An S & A B S Hmpk| 4450 | 4450 | 4450 | 3700 | 4550
FUBABRPEELL—/—SERET DA, kEIDE TEN S ESBIEES Homk | 3,490 | 3490 1 3490 1 3200 1 3490
e Mot # & & cHkmk| 7.410 | 7410 | 7410 | 6910 | 8260
e - S ER A . A/ B(kg) 850./1,700 | 1,000./2,000 | 1,150./2,300 | 1,000,/2,000 | 1,000,/2,000
SPIN (=R AR IEAEL N 3 3 1 3 s ) s s s
s HRESOAAOETENREDEIOC | g [ C/D0) 850,/1.700 | 1,000/2.000 [ 1.150,/2:300 | 1,000,/2.000] 1.000//2.000
= ° E/F (ke) 2,850,/2,500 | 3,150,/°2,800 | 3,450,/°3,100 | 3,150,/2,800 | 3,150,/2,800
G/H(ke) 2.250,/1,950 2,450,/°2,250 | 2,700,/2,550 | 2,450./2,250 | 2,450./2,250
2F[ai#] (M /#&im] (#2) [ 18~139/18 | 18~140/18 [ 18~151/18 | 18~136/18 | 18~155/18
LZtEILISKIL 22W SE£EE 4 g | IEEIBNE ) | T8/18 | 18/18 | 18/18 | 18/18 | 18/18
XEEMAEOTER EEMOT AR ET B 1F[5] [P,/ #4m] (#2) | 18~108/18 | 18~109/18 [ 18~117/18 | 18~105/18 | 18~124/18
FEEREDYAR ZEMOYWAIS ° ; Bi[AT#&] [/ #&ih] (8) [ 18~145/18 | 18~146/18 [ 18~158/18 | 18~142/18 | 18~171/18
B2lai#] [Pt/ 4&4m] (#) | 18~180/18 | 18~181/18 | 18~196/18 | 18~173/18 [ 18~211/18
8,050 (EEBEME : W+300)
150 7750 (€ Mg W) 150
) ()
s ‘(&%F—ﬁ o) /m
e
- | } ! !
- I I I \ (500) 5260 (Eyhga:l) 850 5250 (Bwyhga: L) 480 (120)
10 i i i i 5,750 (FER—ZADR @ L) [350) 5750 (HEAR—FDME : Lt) IZED
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ITHI

LEXEL PUZZLE 32W

B4R L2EIVIXXIL 32W FiEFkR
WEFE [D4vP—O0—7Ax S M L M8 MH
5 = T |[0—>—Fz—VAR 2K (mm) 4,700 5,050 5,300 5,050 5,050
WrREE [0—>—Fz—VARK 21 (mm) 1,700 1,850 1,950 1,850 1,850
X & T—hEE |74 VP—0—"TA=K R & 3F 2,100 2,100 2,100 2,100 2,100
® B W EFRE [2.2kWIL—Ff =\%T’—|~"{—7 ﬂﬁb% 2F 1,550 1,550 1,550 1,550 2,100
EEh i ERE1T [0.2kWTL—F1 =\"—\17—|\“‘E—’5’ =z bj—E 275 (mm) 1F 2,100 2,100 2,100 2,000 2,100
= WTFERE [37KWIL—FfFv—RE—% B1 1,550 1,550 1,550 1,550 2,100
T—hFE [0.09KWIL—FHFT7—RE=% B2 1,800 1,800 1,800 1,550 2,100
T R AC200/220V =#8 50/60Hz | 7.4kW (16.0kVA) B2 (ke) 1,700 2,000 2,300 2,000 2,000
= " IAC100V #48 50/60Hz_ [1.0kW (1.0KVA) Ey kR ZL (mm) 4,900 5,250 5,500 5,250 5,250
BIEAE By FINRILEEA HEAR—ZFLE Lt (mm)| 5,600 5,950 6,200 5,950 5,950
J=-y k| 28164 [ 3E—264 [ 4E 364 [ 5E—464 = oD BE:P o (mm) 2,350 2,450 2,550 2,450 2,450
MERNAAKIZ. F1 T ICEDERDET, #£ B(E v b EW (mm) |PxE#+400 | PxE$+400 | PxE%+400 | Px2E$8+400 | Px:E$+400
HKETBUCK D AREBFREY L BRDBEANTINET, & é‘: A5y M S HpF (mm) 3,920 3,920 3,920 3,670 4,770
KMARICBVARYZICHELL T BREAVWEDLELIES W, F TJT f&’iUt"‘y}j%é:HpR(mm) 3,820 3,820 3,820 3,570 4,670
OB BRROBERENDE TEN200mE ADET, & A & SHimk]| 6110 6,110 6.110 6.010 6,760
b FEP RS S S 1 Hg (nn) 4,410 4,410 4,410 4,310 5,060
B & & S HK )k 8,330 8,330 8,330 7,980 9,730
A/ B (kg) 1,700,/3,400 | 1,850,/3,700 | 2,050,/°4,100 | 1,850,/3,700 | 1,850./3,700
RS C/D(keg) 1,700,/3,400 | 1,850,/3,700 | 2,050,/°4,100 | 1,850,/3,700 | 1,850,/3,700
E/F (ke) 2,850,/2,500 | 3,150,/2,800 | 3,450.//3,100 | 3,150,/2,800 | 3,150./2,800
G/H(kg) 2.250/1,950 [ 2,450,/2,250 | 2,700./2,550 | 2,450./2,250 | 2,450,/ 2,250
LoEILISX)L 32W SEEHE KRG u%j;rg,w gwi 18~161/18 | 18~162/18 | 18~176/18] 18~157/18 | 18~185/18
. - ey e 2F[ante] (M /#54m] (#) [ 18~139/18 | 18~140/18 | 18~151/18 | 18~135/18 | 18~155/18
HEZREDTAR. EEMEOTRIADET. 6 & [FCE3UI (PR /45M](9) | 18/18 | 18/18 18/18 | 18/18 | 18/18
P B [ [ R[5/ k] (7)) | 18~108/18 [ 18~109/18 [ 18~117/18 | 18~105/18 | 18~124/18
8.050 (iﬁ”“?mi W+300) 150 Bi[gIf&] (e /i%4A] (#2) | 18~145/18 | 18~146/18 | 18~158/18 | 18~142/18 | 18~171/18
150 7,750 (Ev i@ ‘;W) : 190 B2l ] [FFH/1%4A] (#) | 18~180/18 | 18~181/18 | 18~196/18 [ 18~173/18 | 18~211/18
) EENESD (%)
200 ||, 2450 Z&£7122 200
8 ](E%E\Fsﬁ : P)[ (1%%15&1%)
2 i
o | |
L 150 |1 (1] 150
N It case)
u| 7R ) ||h] (78RR 500 5250 (Ey hES D) 1050, 5250 (Ky hES: D) 680,,(120)
g | | 5,950 (BEN—Zei : L) | 350] 5950 (H~—ZebE : Lt) ZED
o 1220 480 | 1220 480
8 S S
h ‘ & 91 e % eefifee EE R CE
1 ‘ | | ‘ ol | (EERITE) FYTIABA | 7Y IATA FYTITAL &
i 150 | 1|l i i 11 150 b | (REATH |[EEaTs) (REALE) |
| a1 | | Wi cassie) = @?*:\*@’*”*’*’ @V% *@*”’ﬁf’@*f e |=
NGl ‘ ‘ HRGE A gt & . d \ ‘e ‘ o2
< ‘ ! ! ‘ %\ g= M| BB o] LI #on Sla
é L NE SRR e i G- mEL—)) || B EEL=L) | NE
= @ﬁ}é&@*””*’&%% O R 7 sy, e TR
A L ; ' e N B
% 200 2,450 T SN\ e 200 @Q\—W@) ® @Q\ 1 NE
YY) | S S [ N S I ~2 1 7‘&77”"7;&77%& ~
150 7,750 (£ hE W) 150 ° ® NO g
(Este) 8,050 (EEAEIE : W+300) (asEE) 150 -
- BERAEY(EER) =EEFER
EETEN| A sEEANEER
8,050 (EBLE : W+300) 905420 5250 (K hES:D 1,050 5250 (Ev hEE 1D 680 1,005
ey e
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LEXEL PUZZLE 42W

B4R L2EIVIKXIL 42W FiER
WERE [747—O0—"7A= S M L Mm MH
5 = # EET [O—5—Fz—VAR 2= (mm) 4,700 5,050 5,300 5,050 5,050
T HTERE [O—>—Fz—VAR 21 (mm) 1,700 1,850 1,950 1,850 1,850
X & T—rRE 74P —0—773 4F 2,100 2,100 2,100 1,550 2,100
® B e EFE [2.2kW7L—+f Fr—RE-S N =w® 3F 1,550 1,550 1,550 1,550 2,100
mEh T 0.2ijb—=F{T 5\"—\‘\7— RE=% Fjﬁg% 25 (m) 2F 1,550 1,550 1,550 1,550 2,100
= i’gﬂtﬁ—ﬁﬁ 3.7KW7 L—=*A #‘T—I\‘"E—F - = 1F 2,100 2,100 2,100 1,900 2,100
T—hEE [0.0kWIL—FHT7—RE-% B1 1,550 1,550 1,550 1,550 2,100
T R AC200/220V =#8 50/60Hz | 7.4kW (16.0kVA) B2 1,800 1,800 1,800 1,550 2,100
= "M IAC100V ##8 50/60Hz_ [1.0KW (1.0KVA) s (kg) 1,700 2,000 2,300 2,000 2,000
BIERE Sy FINRILGEEA R EyvhkE=L (mm)| 4900 5,250 5,500 5,250 5,250
a=—yh| 28—18&8 | 3E-30&8 | 4FE—42& HER—ZFLE Lt Emm; 5,600 5,950 6,200 5,950 5,950
KBRANBEHIL. 51 TIcEDELRDET, £ D BP (mm 2,350 2,450 2,550 2,450 2,450
Xgﬁlﬂ&k D AREBREEYERDEANTSNET, = B Eoy b W (mm) | PxoE$+400 | PxoZ#+400 | Px:E#2+400 | Px:E#8-+400 | Px:E#+400
HERICBRVARY VIR EEL TR BV EDE L, T i [BAUEYRES HOF ()| 3,920 3,920 3,920 3,670 4,770
SN BB A KEIDETEN A0S <R FT, =z 5 [BIIEYERS:HR(m)| 3,820 3,820 3,820 3,570 4,670
B A & :Ht@mx| 7,760 7,760 7,760 7,010 8,860
- ERREE S S - Hy (mn) A 6,060 6,060 6,060 5,860 7,160
B & & S:Hkmm* | 9,980 9,980 9,980 9,530 11,930
BIERFIFR & - He(m)* [ 6,500 6,500 6,500 6,300 7,600
A/B(ke) 2,500,/5,000 | 2,750.//5,500 | 3,050./6,050 | 2,750./5,500 | 2,750./5,500
s C/D(kg) 2,500.//5,000 | 2,750./5,500 | 3,050./°6,050 | 2,750,/°5,500 | 2,750,/°5,500
bat}bl(z}b 42W §%@E E/F((kg)) 2,850?2,500 3,150?2,800 3,450?3,100 3,150?2,800 3,150?2,800
. . N ; = G/H(ke 2,250,/1,950 [ 2,450,/2,250 | 2,700,/°2,550 | 2,450,/°2,250 | 2,450,/'2,250
HEZRED AR EBMOTEIBDET, AFTRTR] [Pt/ IRAR] (D) | 18~186/18 | 18~167/18 | 18~204/18 | 18~183/18 | 18~217/18
SFLas#] [Pt/ #&4m] (72) | 18~164/18 | 18~165/18 | 18~180/18 | 18~161/18 | 18~188/18
8,050 (EEXLEIE : W+300) € B 2F[aite] [P/ #540] (#2) [ 18~142/18 | 18~143/18 | 18~155/18 | 18~139/18 | 18~158/18
_ 150 7,750 (€ Mg W) 150 B o 1F[aT5] (P2 1%4] (72) 18/18 18/18 18/18 18/18 18/18
(@%2%%) 0450 EENPELTIVR %%?’“E) > 1R[] (PR /48] (#) | 18~111/18 | 18~112/18 | 18~121/18 | 18~110/18 [ 18~127/18
iy femme) B (31 [/ #4h] () | 18~148/18 [ 18~149/18 | 18~160/18 | 18~147/18 | 18~174/18
_ B2lEIf&] [P /i%4A] (#) | 18~183/18 | 18~184/18 | 18~200/18 [ 18~178/18 | 18~214/18
3
0
| 150 150
N (ESE)
y| 7 (F7RRAA=2) (500) 5250 (P hES: L) 1,050 5250 (Kv hES:L)  680_(120)
8 5950 (HEN—RFDR :Lt) | 350] 5,950 (HEA—ZAULE : L) ZED
s 1220 480 [220 480
_ = o e
. %@ | 2% I . g
I . i %} RERTE (7@/% 2L g
2| o T g e e x
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TR EIEE L
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LEXEL PUZZLE 52W

REMR LZEIVIKXIL 52W ~FiER
WEFE [D71P—0-—"AH S M L Mm MH
5 = BT (O—5—Fz—VFHR S 4,700 5,050 5,300 5,050 5,050
P OTEE [O—S5—Fz—VAR £ (mm) 1,700 1,850 1,950 1,850 1,850
B B T—hEE [V —O0—THR 5F 2,100 2,100 2,100 1,550 2,100
x B ih R [2.KWTL—FHFT—RE-F N & 4F 1,550 1,550 1,550 1,550 1,800
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